Ass'qnmﬁn-.‘ 'Q_,'.L{

@ If\v*S"’Mn“' $‘ 92.’

Amw ok Sele Ccmml\i"\”"

[Net Zule = Hor Gl SO> — B35S0
—_—,ﬁg)ile—(.‘SO

Pl /loss = 242450 — 1,821
T - F 545,50 (

"N profit

© a)(100 % 72) = 2O
-[%1,70|
2N 10 - 5,200 =[+$, 170 |
K pref b

@ ) (200 % B2.50) - 20
=] 6, X o
b)) G, 480 ~ (6,760 »]—ﬁz&o\
"~ loss

(D D (200 % 22) - o

e gt ST € S0
wﬂl‘d-

=4 @seo[
B) 6,560 ~ H,500 = Eﬁz 0607




@ Net Sale = (|20 % 3c) = HO = *5,360
Profid [ [oss = 5‘3@0 - 4,512
—~|+$648 (
@ Net Sale = (2H0 = |15, 40)=7995 = H2T 6l &
Pram/ﬁoss = 27, 61.0S — 28 656
[~ %1 039.95 |

(13) Trestmend = (850 %28.75) +14 A5
= 24,452, 45
Net Sale = (§50 x23Ho) = I4.9S
- 19, £75 .05

%1:4/ loss = 19,875 .05 - ,?MHS'ZL(S

=]~ 4, s77, ‘fo]




@/; I’""J"""} # CI,QOO X,Zc%) + (4o +(1,200)(-02))
= 623,664
& Net Sole = (u,zoo»fffo)_ —( 20+ (1,200)(-03))
[ $z21 1’541
D) Profid [ Less = 31,13H ~ 23, bCH
‘{—# 2,520 (
@ Trvestment = (500 x88)+ CHO-#(l,S'oo)(.oz))

= 46122070
Z) Nek Sale = (1|, 500%96) = (Bo+(1,506)( 03))

EE;?% qzs]

o) Pl Loss = 142,92 S ~ 132,070

P—:‘En 05 ]

%) Todal [eese Cest
= (472.10)(48) + |,200+ 99+ 225

lf}EzL( 18H. 801




